Kazkiplit yuacTHUK 1oJIydaeT KOMILUIEKT u3 6 3a/1a4, PHU 9TOM KaxK/as U3 HUX CJIydailHbiM 00pa3oM
BbIOUpaercs u3 4-x BapuanToB. [IpejcraBiienbl pemenus Jijisi OJIHOIO U3 Y€ThIPEX BAPUAHTOB, OCTAJIbHBIE
pemalTcsl AaHAJIOTUIHO.

[Tepsoie 4 3amaun 1o/ Ipa3yMeBaIOT KPATKUil IUCJI0BONH OTBET. Ec/n 9ucao B oTBeTe mmMeeT OOJIbIe
IBYX Tudp mocie AecATHYHOI 3amATOl, TO 3TO YUCIO TpeOyeTcs OKPYIVIUTH 0 COTBIX. 3aJadd IO
HOMepaMu b u 6 TpeOYIOT pa3BepPHYTOrO PelleHus] i TOYHOTO (T.e. 6e3 OKPYTJIeHHii) OTBeTA.

Each participant gets a set of 6 tasks, with each of them randomly selected from 4 versions. Solutions
are presented for one of the four versions, the rest are solved similarly.

The first 4 tasks imply a short numerical answer. If the number in the answer has more than two
digits after the decimal point, then this number must be rounded to 2 decimal digits. Tasks numbered
5 and 6 require a detailed solution and an precise (i.e. without rounding) answer.

7t degree

Task 1.

1. TMuparckuii 3aKOH IJIACHT, YTO CIPABEJITUBHIN CIIOCO0 MeeKKN J00bIIr (COCTOosIIEell 13 OJMHAKO-
BBIX 30JI0TBIX MOHET) TAKON: KAIUTAH OMPEJIEISeT, KOO U3 KOMAH/ bl CIUTAET JOCTONHBIM HAIPA/TBI
(9TO KAK MUHUMYM OJIUH MUPAT), ¥ STUM MUPATAM JAET MAKCAMAJIBLHO BO3MOKHOE OJIMHAKOBOE KO-
JIMYECTBO 30JI0ThIX MOHET u3 J00biur. OCTaroK MOHET LOC/Ie TAKONR JIeJIE2KKU - 0 KAIlUTaHA.

Kamuran Kpiok He MOXKeT pelmuTh MO0 KAaKOMY W3 NPHUHITUIIOB BBIJAETUTD ~AOCTONHBIX  HAarpabl.
Hanpuwmep, eciin kanuran Boideper 99 nuparos, TO J10Jis KAllUTaHa B TAKOM CJydae cocTaBuT Hl
MOHETa; & e€CJIM Ke OH BbiOeper 77 muparoB, TO ero o oymer yxke 29 moneT. CKOJIBKO MOHET
OBIIO B 100BIYE, €C/IN U3BECTHO, 9TO 3TO Yuca0 MeHbIme 10007

Pirate law states that the fair way to share the loot (consisting of identical gold coins) is as follows:
the captain determines which of the crew he considers worthy of the reward (this is at least one
pirate), and these pirates are given the maximum possible equal number of gold coins from the
loot. The rest of the coins after such a division is the captain’s share.

Captain Hook cannot decide on which principle to choose the "worthy” pirates. For example, if he
picks 99 “worthy” pirates, the captain’s share in this case is 51 coins; and if he chooses 77 pirates,
the captain’s share will be 29 coins. How many coins were in the loot if it is known that their
amount is less than 10007

2. TlupaTckuii 3aKOH TJIACUT, YTO CIPABEJIUBBII CIIOCOO J1es1eKKH T0ObIYH (COCTOSIIER U3 OMHAKO-
BBIX 30JI0TBIX MOHET) TAKOi: KAIUTAH OMPeJIeIseT, KOO N3 KOMAH/ bl CIUTAET JOCTONHBIM HAIPA/IHI
(9TO KAK MUHUMYM OJIMH MUPAT), ¥ STHM IUPATAM JAET MAKCHMAJIbLHO BO3MOKHOE OJIMHAKOBOE KO-
JITYECTBO 30JI0TBHIX MOHET u3 A00bran. OCTaTOK MOHET IOCJIe TAKOH JIeJEXKKU - A0JIs KalnTaHa.

Kanuran Kpiok He MozxkKeT pemruTh 10 KaKOMY U3 MPHUHITUIOB BBIAETUTH ~JAOCTOWHBIX HAI'PA/IbI.
Hanpumep, ecsin kanuran Bbideper 81 nupara, TO J10Jis KallMTaHa B TaKOM cjy4dae cocraButr 64
MOHET; a ecJjiu ke oH Bbibeper 99 nuparos, To ero jioJjs oyaer yzxe 19 moner. MI3BectHo, 4To 4yucjio
moHeT MeHbIne 800. CKOIbKO MOHET OBLIO B H0OBIYE, €CJIH U3BECTHO, 9TO 9TO IHCI0 MeHbime 8007

Pirate law states that the fair way to share the loot (consisting of identical gold coins) is as follows:
the captain determines which of the crew he considers worthy of the reward (this is at least one



pirate), and these pirates are given the maximum possible equal number of gold coins from the
loot. The rest of the coins after such a division is the captain’s share.

Captain Hook cannot decide on which principle to choose the "worthy” pirates. For example, if he
picks 81 “worthy” pirates, the captain’s share in this case is 64 coins; and if he chooses 99 pirates,
the captain’s share will be 19 coins. How many coins were in the loot if it is known that their
amount is less than 8007

[Tuparckuii 3aKOH IJIACAT, YTO CIIPABEJIUBBIA COCO0 JeIeKKH J00ban (COCTOsAIIE U3 ONHAKO-
BBIX 30JI0TBIX MOHET) TAKOM: KAIMUTAH OMPeJIeIseT, KOrO N3 KOMAH/ bl CIUTAET JOCTONHBIM HAIPA/IHI
(9TO KAK MHUHUMYM OJIUH MUPAT), ¥ STHM IUPATAM JAET MAKCHMAJIbLHO BO3MOXKHOE OJIMHAKOBOE KO-
JITYECTBO 30JI0TBHIX MOHET u3 A00brdnu. OCTaTOK MOHET IOCJIe TAKOH JIeJIEXKKHU - H0JIsI KalnTaHa.

Kanuran Kpiok He MozKeT pemruTh 10 KaKOMY U3 MPHUHIIUIOB BBIIETUTH ~JAOCTOWHBIX HAI'PA/IbI.
Hampumep, ecin Kanutan BoiOeper 143 mumpara, TO 019 KallUTaHa B TAaKOM Caydae cocTaBUT 61
MOHETa; & €CJIM Ke OH BbiOeper 88 muparos, TO ero o oyger yxe 39 moner. CKOJIBKO MOHET
OBLIO B 100BIYE, €CJTM W3BECTHO, 9TO ITO Uncao MeHbire 14007

Pirate law states that the fair way to share the loot (consisting of identical gold coins) is as follows:
the captain determines which of the crew he considers worthy of the reward (this is at least one
pirate), and these pirates are given the maximum possible equal number of gold coins from the
loot. The rest of the coins after such a division is the captain’s share.

Captain Hook cannot decide on which principle to choose the "worthy” pirates. For example, if
he picks 143 “worthy” pirates, the captain’s share in this case is 61 coins; and if he chooses 88
pirates, the captain’s share will be 39 coins. How many coins were in the loot if it is known that
their amount is less than 14007

[Tuparckuii 3aKOH 1JIaCUT, YTO CIPABE/JIUBbIH CLHOCO0 Je/1ezKKH J100bYn (COCTOsANIe U3 OJIMHAKO-
BBIX 30JI0TBIX MOHET) TAKOM: KAIUTAH OIIPe/IeIsieT, KOTO N3 KOMAH/Ibl CIUTAET JOCTONHBIM HAIPA/IHI
(3TO KaK MHHUMYM OJIMH MTUPAT), ¥ STHM TTHPATAM JaéT MaKCHMAJIbLHO BO3MOYKHOE OJIMHAKOBOE KO-
JITYECTBO 30JI0THIX MOHET u3 A00brdn. OCTaTOK MOHET IIOCJIe TAKOW JIeJIEXKKHU - JA0JIsI KallnTaHa.

Kanuran Kpiok He MozkKeT pelruTh 10 KaKOMY U3 MPHUHIIUIOB BBIJICTUTH ~JTOCTOWHBIX HAI'Pa/IbI.
Hampuwmep, eciim kanutan BbiOepeT 91 mumpat, TO 1078 KalUTaHA B TaKOM CJaydae cOCTaBUT 87
MOHET; & €CJIM 2Ke OH BbiOeper 77 nuparos, TO ero joJjs oyaer yzke 17 moHeT. CKOJIBKO MOHET
ObLJIO B J00BIYE, €CJIM W3BECTHO, 9TO 9TO YUCA0 MeHbIre 9507

Pirate law states that the fair way to share the loot (consisting of identical gold coins) is as follows:
the captain determines which of the crew he considers worthy of the reward (this is at least one
pirate), and these pirates are given the maximum possible equal number of gold coins from the
loot. The rest of the coins after such a division is the captain’s share.

Captain Hook cannot decide on which principle to choose the "worthy” pirates. For example, if he
picks 91 “worthy” pirates, the captain’s share in this case is 87 coins; and if he chooses 77 pirates,
the captain’s share will be 17 coins. How many coins were in the loot if it is known that their
amount is less than 9507



Task 2.

1. Knergaryio tabauiy pasmepoM 6 X 6 BbIpe3au W3 JUCTA OYMAarw W CKJIEUTN Y Hee TPOTHBO-
MOJIOYKHBIE CTOPOHBI. Kakoe MaKcHMabHO BO3MOYKHOE KOJTUIECTBO KOHEil MOXKHO PAacCTaBUTH Ha
TaKoil JIOCKe, 9TOObI HUKAKWE JBA KOHs He Omjm Japyr japyra’?

A 6 x 6 checkered table was cut out of a sheet of paper and its opposite sides were glued together.
What is the maximum possible number of chess knights that can be placed on such a board so
that no two knights beat each other?

2. Kuteruaryio tabiuiy paszmepom 8 X 8 Bblpe3ajin U3 JIUCTA OyMaru U CKJIEHIM Y Hee HPOTHBO-
HOJIOYKHBIE CTOPOHBI. Kakoe MakcuMa/ibHO BO3MOYKHOE KOJMYECTBO KOHEl MOXKHO PacCTaBUTH Ha
TaKoil /I0CKe, 9TOOBI HUKAKWE JBA KOHsI He Owmjim apyr apyra?

A 8 x 8 checkered table was cut out of a sheet of paper and its opposite sides were glued together.
What is the maximum possible number of chess knights that can be placed on such a board so
that no two knights beat each other?

3. Kuergaryio Ttabsmiry pazmepom 10 X 10 BwuIpe3asu u3 jucta OyMaru M CKJAEHJIH y Hee MPOTUBO-
MOJIOYKHBIE CTOPOHBI. KaKoe MaKCUMaJIbHO BO3MOYKHOE KOJWYECTBO KOHEH MOYKHO PacCTaBUThH Ha



TaKO# JOCKe, 9TOObl HUKAKHE JIBA KOHA He O aApyr apyra?

A 10 x 10 checkered table was cut out of a sheet of paper and its opposite sides were glued
together. What is the maximum possible number of chess knights that can be placed on such a
board so that no two knights beat each other?

4. Kiteruaryo Tabsmmiy pazmepom 12 X 12 Beipe3ajin u3 Jiucra OyMaru ¥ CKJICHIU Yy Hee IHPOTHBO-
HOJIOYKHBIE CTOPOHBI. Kakoe MakcuMa/ibHO BO3MOYKHOE KOJIMYECTBO KOHEil MOXKHO PacCTaBUTH Ha
TaKoil /I0CKe, 9TOOBI HUKAKWE JBA KOHsI He Owmim Apyr japyra?

A 12 x 12 checkered table was cut out of a sheet of paper and its opposite sides were glued
together. What is the maximum possible number of chess knights that can be placed on such a
board so that no two knights beat each other?

Task 3.

1. B cTpane HeCKOJBKO TOPOJOB, HEKOTOPBHIE Maphl KOTOPHIX COEIWHEHBI jgoporaM. V3BecTHO, 9TO
Bcero 2025 gopor, u U3 JIOOBIX TpeX JOPOr MOKHO BBIOpATH JBE, KOTOPbIE HE BBIXOJAT U3 OJIHOIO
roposa. Kakoe MmakcmMaabHOE KOJTUIECTBO JTOPOT, HUKAKHE IBe U3 KOTOPBIX He BBIXOIAT U3 OTHOTO
ropoja, rapaHTHPOBAHHO MOYKHO HATH?

There are several towns in a kingdom, some pairs of which are connected via roads. It is known
that there are 2025 roads total and in any group of three roads you can choose two, which do not
come from the same town. What is the largest number of roads are guaranteed to be found, no
two of which come from the same towns?

2. B crTpane HecKOJIbKO ropojioB, HEKOTOPbIE Mapbl KOTOPLIX COEJMHEHBI jioporam. VI3BecTHO, 4TO
Bcero 2000 mopor, u U3 JIOOBIX TpeX JOPOT MOYKHO BBIOpATH JIBE, KOTOPbIE HE BBIXOJAT U3 OJIHOTO



ropozia. KaKoe MaKCHUMaJIbHOE KOJIMYECTBO JOPOI, HUKaKue JIB€ U3 KOTOPbIX HE€ BbIXOAAT U3 OJHOI'O
ropoja, rapaHTHPOBAHHO MOYKHO HATH?

There are several towns in a kingdom, some pairs of which are connected via roads. It is known
that there are 2000 roads total and in any group of three roads you can choose two, which do not
come from the same town. What is the largest number of roads are guaranteed to be found, no
two of which come from the same towns?

B crpane HeckKoJIbKO ropojioB, HEKOTOPHIE Mapbl KOTOPHIX COEAWHEHbI joporaMm. 3BecTHO, 9TO
Bcero 1915 gopor, u U3 JIOOBIX TpeX JOPOr MOKHO BBIOpATH JIBE, KOTOPLIE HE BBIXOJIAT U3 OJIHOIO
ropojsa. Kakoe MmakcuMaabHOE KOJUIECTBO JTOPOT, HUKAKHE IBe U3 KOTOPBIX He BBIXOIAT U3 OTHOTO
ropojia, rapaHTUuPOBAHHO MOXKHO HA#TH?

There are several towns in a kingdom, some pairs of which are connected via roads. It is known
that there are 1915 roads total and in any group of three roads you can choose two, which do not
come from the same town. What is the largest number of roads are guaranteed to be found, no
two of which come from the same towns?

B crpane HeckoJIbKO ropojioB, HEKOTOPbIE Hapbl KOTOPLIX COEJIMHEHBI jioporam. VI3BecTHO, 4TO
Bcero 1875 mopor, u U3 JIOOBIX TPeX JOPOr MOXKHO BBIOpATH JIBE, KOTOPbIE HE BBIXOJAT U3 OJIHOTO
ropojia. Kakoe MakcnMaIbHOE KOJNIECTBO J0OPOT, HIKAKHe /IBe I3 KOTOPBIX He BBIXOISAT U3 O/THOTO
ropo/ia, TapaHTUPOBAHHO MOXKHO HaiiTn?

There are several towns in a kingdom, some pairs of which are connected via roads. It is known
that there are 1875 roads total and in any group of three roads you can choose two, which do not
come from the same town. What is the largest number of roads are guaranteed to be found, no
two of which come from the same towns?



Task 4.

7

1. Haiimure Hambobminii oMUl AeIUTe/Ib BCEX YHCes BUAA n' — n JJid JTI0O0T0 HATYPATLHOTO 7.

Find greatest common factor for all numbers of type n” — n for any positive integer n.

3

2. Halignre nanboabIimmii o0Iuil JeIUTeIh BCEX UMCE BHIA n'? —n JIJIsT JTI000TO HATYpPAIBHOTO 1.

3

Find greatest common factor for all numbers of type n'® — n for any positive integer n.

9

3. Haiiaure HamboabIIIii OOIIHIT JeuTeIh BeexX unces uga n'® — n /s 1060ro HATYPAILHOTO M.

9

Find greatest common factor for all numbers of type n'® — n for any positive integer n.

5

4. Haiigure nanbosbmmii 001l IeJInTe b BCeX dnces Buaa n?° — n g J1060ro HATYPaibHOTO N.

5

Find greatest common factor for all numbers of type n?> — n for any positive integer n.

Task 5.



1. Ha jiiunnoii sienre B psiji 6€3 n1pobesioB 3anmcanbl Bee HATypaJibHbie ducia or 1 1o 2022, obpasys
0/IHO orpomHoe unc/io: 1234567891011...20212022. [lera u Bans 1o ouepe iu Bbr4€épkuBaior mudpbl
9TOro Ync/aa (BHIYEPKHYTYIO IudPY 3alpPerieHo BhlYepKuBaTh BTOpoil pa3). B Konie urpsl ocra-
ércsa onHO3HAYHOE Yncsio. Kcam oo jenuTcs Ha 3, TO BHIMTpbIBaeT BaHs, WHave — BHIUTPHIBAET
[Tetsa. Moxket Jin KTO-TO 0OeciednTh cede mobe1y He3aBHCHMO OT UI'PHI ITPOTUBHUKA?

On a tape all positive integers from 1 to 2022 are written in a row without spaces, forming one
huge number: 1234567891011...20212022. Peter and Ivan, one-by-one, are crossing out the digits
of this number (it is forbidden to cross out the same digit twice). At the end of the game, a single
digit remains. If it is divisible by 3, then Ivan wins, otherwise, Peter wins. Can one secure victory
for himself, regardless of the opponent’s play?

2. Ha pymmunoit jierTe B psij 0e3 nmpoOesioB 3ammrcaHbl Bce HATypaJibHble duca ot 1 10 1999, obpasys
0JIHO orpomHoe uncio: 1234567891011...19981999. [letsa u Bans mo ovepein BIYEPKUBAIOT UM PHI
9TOro Yncaa (BbIYEPKHYTYIO IudPY 3alpPeNeHo BhYepKuBaTh BTOpoil pa3). B KoHIEe Urpbl ocTa-
érca ogHo3HaYHOE umcyo. Ecau oHo genutca Ha 3, TO BHIUTpBIBaeT BaHsd, nHAYe — BHINTPLIBAET
[Terst. Moxker jin kKT0-TO 0GecednTh cebe 1mode/ Iy He3ABUCUMO OT UIPbI IPOTUBHUKA !

On a tape all positive integers from 1 to 1999 are written in a row without spaces, forming one
huge number: 1234567891011...19981999. Peter and Ivan, one-by-one, are crossing out the digits
of this number (it is forbidden to cross out the same digit twice). At the end of the game, a single
digit remains. If it is divisible by 3, then Ivan wins, otherwise, Peter wins. Can one secure victory
for himself, regardless of the opponent’s play?

3. Ha mymunOI JlenTe B psii 6€3 mpobesioB 3alucanbl Bce HATYpasibHble dncaa or 1 g0 2077, obpasys
0JIHO orpoMHoe uncio: 1234567891011...20762077. [lersa u Bauga mo ouepein BLIYEPKUBAIOT UM PHI
9TOr0 YKC/Ia (BBIYEPKHYTYIO HUMDPY 3alPEIIEH0 BbIYePKUBATH BTOpoil pa3). B KoHie urpbr ocra-
ércd o/lHO3HAYHOE YMCJio. Kcm oHo jenures Ha 3, TO BhIUTpbIBaeT BaHs, nHa4de — BBIUTPHIBAET
[Tersi. Moxker jim KTO-TO 0becrednTh cede mobe/Iy He3aBUCUMO OT UT'PHI TPOTUBHUKA,?

On a tape all positive integers from 1 to 2077 are written in a row without spaces, forming one
huge number: 1234567891011...20762077. Peter and Ivan, one-by-one, are crossing out the digits
of this number (it is forbidden to cross out the same digit twice). At the end of the game, a single
digit remains. If it is divisible by 3, then Ivan wins, otherwise, Peter wins. Can one secure victory
for himself, regardless of the opponent’s play?

4. Ha jumiHHOit jienTe B psiji 0e3 1mpobe/ioB 3alucanbl Bce HaTypaJibable duciia ot 1 10 2007, obpasyst
0/1IHO orpomHoe uncio: 1234567891011...20062007. Ilers u Bans 1o odepe in Bbr4épkuBaior mudpb
9TOro 9Ync/aa (BHIUEPKHYTYIO IudPY 3alpPerieHo BhlYepKuBaTh BTOPOil pa3). B KoHIe Urphl octa-
ércsd OflHO3HAYHOE 4YHcJio. Ecam oHO jenurcsa Ha 3, TO BHIUTpbIBaeT BaHgd, nHa4Ye — BBIUTPLIBAET
[Teta. Moxket i KTO-TO 0OecIednTh cede mobeIy He3aBHCHMO OT UI'PHI ITPOTUBHUKA?

On a tape all positive integers from 1 to 2007 are written in a row without spaces, forming one
huge number: 1234567891011...20062007. Peter and Ivan, one-by-one, are crossing out the digits
of this number (it is forbidden to cross out the same digit twice). At the end of the game, a single
digit remains. If it is divisible by 3, then Ivan wins, otherwise, Peter wins. Can one secure victory
for himself, regardless of the opponent’s play?



Task 6.

1. Ajmuca u Bob urpator B urpy. IrpoBoe 1moJie npejacraBisier u3 ceds KJIeT4aTyo MOJ0CKY pa3MepoM
1 x 2022. Urpoku 110 odepen (Haunuaer Ajica) BBIIIUCHIBAIOT B IIYCTYIO KJIETKY J00YI0 13 OYKB
O u I'. [TobGexxmaer TOT, TOCIE YbET0 XO/1a B TpexX coceaunx kjerkax mnosgsstces 0yksor OT'O. Ecm
BCe KJIETKH 3amoJiHeHbl, a ciaoBa OI'O HeT, urpa 3akandmBaercs BHIYIbI0. KakoB OyaeT nCXo/ mpu
[IpPaBIIbHON HI'Pe 000NX COMEPHUKOB?

Alice and Bob play a game. The gaming field is a checked line of size 1 x 2022. Players one by
one write any of the letters W or O (the first to write is Alice). The person after which turn there
would be a work WOW on the desk wins. If all cells are filled without WOW word, the players
draw. How the game would end with a optimal play of both players?

2. Aunmca u Bob urpator B urpy. rposoe mnoJie npeacrapiisier u3 cebst KJIeTIaTYIO MOJIOCKY PazMepoM
1 x 1111. Urpoku 1o ouepean (HaunuaeT Asica) BBIIUCHIBAIOT B IIYCTYIO KJIETKY JIO0YI0 13 OYKB
O u I'. Ilob6exxmaeT TOT, mOCJIe YbEero X0Ja B TpexX coceJHuX KiaeTkax mosparcda 0yksel OI'O. Ecin
BCe KJIEeTKHU 3amosHeHbl, a cioBa OI'O Het, urpa 3akandyuBaeTcs BHHUYbIO. KakoB Oyaer ncxom nmpu
IPABUJIBHON UIpe 0DOUX COMEPHUKOB?

Alice and Bob play a game. The gaming field is a checked line of size 1 x 1111. Players one by
one write any of the letters W or O (the first to write is Alice). The person after which turn there
would be a work WOW on the desk wins. If all cells are filled without WOW word, the players
draw. How the game would end with a optimal play of both players?

3. Aunmca u Bob urpator B urpy. lirposoe mnoJie npeacrabisier u3 cebst KITIATYIO TOJIOCKY PazMepoM
1 x 2048. Urpoku 110 oyepean (HaunHaeT AJuca) BHIIUCHIBAIOT B IIYCTYIO KJIETKY JTIO0YI0 13 OYKB
O u I'. Ilo6exxmaeT TOT, OCJIe Ybero X0Ja B TpeX coceHuX KiaeTkax mossarca 0yksel OI'O. Ecin
BCe KJeTKH 3amoHeHbl, a cioBa OI'O HeT, urpa 3akandmBaeTcs BHHUbIO. KakoB Oyaer mcxom mpu



HPABUJIBHOM UIPe 0DOUX CONEPHUKOB?

Alice and Bob play a game. The gaming field is a checked line of size 1 x 2048. Players one by
one write any of the letters W or O (the first to write is Alice). The person after which turn there
would be a work WOW on the desk wins. If all cells are filled without WOW word, the players
draw. How the game would end with a optimal play of both players?

. Aummca u Bob urpator B urpy. Irposoe moJie npeacrapisieT u3 cedst KJIeTIaTyio MOJOCKY PasMepoM
1 x 777. Urpoku no ouepeau (HadnHaeT AJica) BBIIUCHIBAIOT B IYCTYIO KJIETKY JIIOOYIO U3 OYKB
O u I'. Ilob6exxmaeT TOT, OCJIe Ybero X0Ja B TpeX coceHuX KiaeTkax mosparca 0yksel OI'O. Ecian
BCe KJeTKH 3amoaHeHbl, a cioBa OI'O HeT, urpa 3akanumBaeTcs BHHUbIO. KakoB Oymer mcxom mpu
HPaBUJIBHON UIpe 0DOUX CONEPHUKOB?

Alice and Bob play a game. The gaming field is a checked line of size 1 x 777. Players one by
one write any of the letters W or O (the first to write is Alice). The person after which turn there
would be a work WOW on the desk wins. If all cells are filled without WOW word, the players
draw. How the game would end with a optimal play of both players?



